WZINET (2017/3/23)

1. (73) X f(z,y) = ze’ + cos(ay)
(a) (39) 78 (2,0) WHE,;
(b) (49) 78 (2,0) BEBE U = (3, —4) WHEEH,

sol: (a) %(:ﬁ,y) =eY —ysin(zy) = %(2,0) =1
g—g(:p,y) = ze¥ — wsin(zy) = %(2, 0)=2
. Vf(2,0)=(1,2)
0 Lo =vieo Ch=02 CTH=

2. (65) KIBEAE 2° + e” —sin(yz) = 1 £ (0,1,7) WYEBER.

sol: Let f(x,y,2) = 2® + "™ —sin(yz) — 1

of a2 wray . Of B
gfc(x,y,z)—?)x + (1 +vy)e :>aa—f(0,1,7r)—2
- = ZB—‘rl'y — —_— =
g (x,y,2) = xe zcos(yz) = By 0,1,m)=m

9]
O (29,2 = ~ycostyz) = L (0.1,m) = 1
Hence the tangent plane is 2z +7(y — 1) 4+ (2 —7) =0

3. (T9) REH f(x,y) = 3y° — 2° — 322 + 6oy WA BHIEREL T REIE(DIER),

sol: %(z,y) = —6z 4+ 6y =0 and g—?];(m,y) =6y —6y* 4+ 62 =0
the critical points are (0,0) and (2, 2)
O f 0*f O*f
A — 612y, 20 =6
02 " 0z0y 4 0y?
D(0,0) = —72 < 0= (0,0) is saddle point

D(2,2) =72 > 0= (2,2) is relative maximum




